Eiua+3on5 n  Two Variaues

g_)_e_g________me'fr)/ and alje,\o‘ro. have an inverse (elaﬂons\a;E_

iqht 2
l. Y“&
> 1 up 1
N B ST
-1\__{1 3'._7*'
x%+y’=1 T
1 —
scale x lo)/ 2
2') scale ¥ By 3
A\ A P
-1\41 13,'——53‘3
Xty 1 ;H%
Y‘i&‘\‘l’ 2
3'3 $ up 1
/ \ B TEYTPE I
'7\/7 ‘r’q}ﬂ
=
%2 o T
el Yyl

1 2 3

(x-2)"+(3-0) =1

3

|




Trams?w mations o Grap\ns "

(&) X qoes inside a 'cunc—l"\(m, \6 comes out. afé“‘?( )"a

Thn  the F'\rsf blank next o eac\w -puncﬁoh , wvite an
A i-c the c\«amse from '?(1) s in +the x-coordinate .
Write @ Y iQ +\\e c\nanse is In ‘Hne y - coordinate .

B FE) AL H, 928 Y AL O XL .Co
)-8 Y T 8 feo-1 Y B, 9) P XLl
04601 Y, B, i) X, D, 12) 250 Y, T, n)ed XSy

T nvecse . C;come:\'r/ ()Q Sro.f\r\ and ajelov‘a o-‘l X-ckanje.
_Agveemen‘f‘.@eome-l'r/ 09' Smf\n aml a\ﬁe\mra. a& Y—-c\'\ansc.

T +the second blanks, write the [etter of the Ma‘i‘c\‘\'mj Sm?\q.
£60 A) B) c)

AN AT R R i =

m M M M




ﬁ——‘-ilf—‘:‘-i’::\Y_‘—-i‘{\ C°"’"Plex Numbers on the Unit C\(c_li

3 2

2
z e 8 2
a
2} 2“
6
. 1
5 i
o5
5]
a‘

Find +he  followi y\j:




__E_:iuo:ﬁons in One Variable

£ =q)
h(x) £(x)= \n(x)j(x) < 3
h(x)=0

For #'6-20, wreite the +wo ezua't‘ions that must be solved.

(21"3>=(L/'x—7>
19) e (22-3) = € (42-7) N eP=0
log, (X)=5
) (o) loqul= (x5 :
(x-#)=0
1=x3
ZO) 7-_5) = (x*-5 3 7
(x (x*-5) x S

- —-b “'J b* -tac
S +bf e z0 — UL "
\ f()= ‘b"}bz—‘l’ac
2a

For #ZI-ZZ, wvite +he two ezuo:l'ions that must be solved.

5 +{(-8Y*- +@)(2)
20) 2 (x-3) -5(x-3) +2 /‘@—3\: 2@ A
' x-3) -5(x-3)+2=0
\(X_..S - 5-{(s)*-H2)(2) _ )/
2(2) m2
= -3+ 32—*(‘)(') ~3+45"
22) loSe(x)z+3103e(x)+; =0 loﬂeoq JZO) ____-___5_5_

™ Iose(_x_\: -3- [32—4(4)(1: _-3-J5'

2(1) 2



